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EERIE FE(A) RE(B) ZR(A)-(B) =

TIEERPRBEEINA 739, 883,910 695, 252, 781 44,631,129
EZINGETESETNON 104, 000, 000 104, 560, 120 -560, 120
= ZOMOBEEUA 1, 260, 000 1, 260, 000 0
2 IR (fEASF S AEIEINA 1,739,128 1,739,128 0
| A | RERESTHEINA 200, 000 3, 020, 000 -2, 820, 000
& ZHFI SR HEINA 6, 000 17, 650 -11, 650
B ZOMOURA 507, 660 1,829, 223 -1,321, 563
c SEFEHINAG (1) 847,596, 698 807, 678, 902 39,917, 796
&£ BT 567, 302, 292 577,396, 715 -10, 094, 483
F E= 5 152, 798, 000 192, 206, 228 -39, 408, 228
i X |BHERH 67,906, 790 88, 600, 196 -20, 693, 406
% H [FIFAE SRR 6, 700, 000 6, 870, 325 -170, 325
SINFIBZ 4,882,158 3,927,631 954,527
SEEHZH (2) 799, 589, 240 869, 001, 155 -69, 411, 915
BEEHERUNEER (3) = (1) - (2) 48,007, 458 -61, 322, 253 109, 329, 711
n& iRt RN RVON 502, 406, 000 517,587, 000 -15, 181, 000
IR | sema S ASIRA 1, 050, 000, 000 1, 290, 400, 000 -240, 400, 000
7 | A | BEEmEssilmA 228, 000 -228, 000
F| [MmEEmEHRAG (4) 1, 552, 406, 000 1, 808, 215, 000 -255, 809, 000
2] % RIFEEEARTREESTL 2170, 220, 000 660, 130, 000 -389, 910, 000
S [EEEERG S 1, 256, 873, 000 1,252,416, 724 4,456, 276
3 M EmE ST (5) 1,527, 093, 000 1,912,546, 724 -385, 463, 724
| o [EEREE RS A ERUINTAELE (6) = (4) — (5) 25, 313, 000 -104, 331, 724 129, 644, 724
2 | 4y RIPEEERMEASINA 200, 000, 000 -200, 000, 000
LIPS A EEEERINA 1,921, 000 970, 100 950, 900
E ZOMMOEENIAGT (7) 1,921, 000 200, 970, 100 -199, 049, 100
#) RIPEEEREBASTRERSTH 1, 680, 000 -1, 680, 000
- X |fErEmEs 4,102, 080 4,098, 505 3,575
© | | 2OthoEEICL BT 38, 000, 000 37,630, 800 369, 200
& ToftioiEENSTHET (8) 42,102, 080 43, 409, 305 -1, 307, 225
3 [zofoEBESINZEE (9) = (7) - (8) -40, 181, 080 157, 560, 795 -197, 741, 875
Flaszt (10) 0
HEpERINTERESET (11) = (3) + (6) + (9) — (10) 33,139,378 -8,093, 182 41, 232, 560
IRz EERES (12) 240, 202, 065 240, 202, 065 0
SEARRINESES (11) + (12) 273, 341, 443 232,108, 883 41, 232, 560
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